EXHIBIT A – Pricing P+B22+A1:H29 ARFQ 0608 DCR2300000200

Polygraph Examination Services for Regions 1-7

Section	Description	Check here if biding on this region	Unit of Measure	Estimated Quantity*	Unit Cost	Extended Cos
4.1.1	Contract Item: Polygraph Examination Services for Region 1	/	EA	20	350.00	\$ 7,000.0
4.1.1	Contract Item: Polygraph Examination Services for Region 2	V	EA	20	350.00	\$ 7,000.0
4.1.1	Contract Item: Polygraph Examination Services for Region 3	~	EA	20	350.00	\$ 7,000.0
4.1.1	Contract Item: Polygraph Examination Services for Region 4	/	EA	20	350.00	\$ 7,000.0
4.1.1	Contract Item: Polygraph Examination Services for Region 5	~	EA	20	400.00	\$ 8,000.0
4.1.1	Contract Item: Polygraph Examination Services for Region 6	V	EA	20	400.00	\$ 8,000.0
4.1.1	Contract Item: Polygraph Examination Services for Region 7	/	EA	20	400.00	\$ 8,000.0
				Overall Total (Cost	\$ 52,000.0

Any product or service not on the Agency provided Pricing Page will not be allowable. The state cannot accept alternate pricing pages.

Vendor must type or electronically enter the information into the Pricing Page to prevent errors in the evaluation.

Vendor must complete and return this Pricing Page.

The Pricing Page contains a list of the Contract Services and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

	BIDDER /VENDOR INFORMATION:				
Vendor Name:	The Polygraph Station LLC				
Address:	1873 Four Mile Road				
City, St. Zip:	Charleston, WV 25312				
Phone No.:	(304) 646-9925				
Email Address:	sccro66@aol.com				

Vendor Signature:



State of West Virginia Agency Request for Quote

Proc Folder: 1242873 Reason for Modification: Doc Description: Polygraph Examination Services for Regions 1 through 7 Added Addendum 01 Proc Type: Agency Master Agreement **Date Issued Solicitation Closes** Solicitation No Version ARFQ 0608 DCR2300000200 2023-06-27 2023-07-05 14:30

BID RECEIVING LOCATION			
=			

VENDOR

Vendor Customer Code: 000000227751

Vendor Name: The Polygraph Station LLC

Address: 1873

Street: Four Mile Road

City: Charleston

State: West Virginia Country: United States Zip: 25312

Principal Contact: Sean Crosier, Owner

Vendor Contact Phone: (304) 646-9925 Extension:

FOR INFORMATION CONTACT THE BUYER

James W Atkins (304) 352-4319

james.w.atkins@wv.gov

Vendor Signature X

FEIN# 80-0561940

DATE

072773

All offers subject to all terms and conditions contained in this solicitation

Date Printed: Jun 27, 2023

Page 1

FORM ID: WV-PRC-ARFQ-002 2020/05

ADDITIONAL INFORMATION ...

The WV Department of Homeland Security, Division of Administrative Services is soliciting bids on behalf of WV Division of Corrections and Rehabilitation to establish an open-end contract for polygraph examination services for indigent sex offender parolees for regions 1 through 7.

INVOICE TO SHIP TO

DIVISION OF CORRECTIONS

DIVISION OF CORRECTIONS

- CENTRAL OFFICE 1124 SMITH STREET

- CENTRAL OFFICE 1409 GREENBRIER ST STE

300

SECOND FLOOR

CHARLESTON

CHARLESTON

WV

US

US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
	Contract Item: Polygraph Examination Services - Regions 1-7	20.00000	EA		Total Price

92121603	Manufacturer	Specification	Model#	
				ĺ

Extended Description:

Contract Item: Polygraph Examination Services - Regions 1-7

WV

SCHEDULE OF EVENTS

<u>Line</u>

1

Event

Questions Due by 2:00 EST

Event Date

2023-06-26

	Document Phase	Document Description	Page 3
DCR2300000200		Polygraph Examination Services for Regions 1 through 7	

.

•

•

•